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M2.5 Thfcilee'ss Hole size LZ'%’gtth MAOr\‘/\i’r']'g Anvil Dia | Knob Dia HKe”iSEt
Mzee | (1) (1) (P) () () (K) (k2)
=5 1.0 3.8 0.5 3.0 5.0 8.0 8.4
=% 15 3.8 0.7 3.0 5.0 8.0 8.4
B 2.0 3.8 1.0 3.0 5.0 8.0 8.4
B 3.0 3.8 2.0 3.0 5.0 8.0 8.4
M3 Th?cir;?elss Hole size Lzlr\(gtth MAor\]/\i/rI]lg Anvil Dia | Knob Dia HKenigEt
szee | (1) (H) () () () (K) (K2)
e 1.0 47 0.5 4.0 6.5 10.5 10.5
=y 15 47 0.7 4.0 6.5 10.5 10.5
= 2.0 47 1.0 40 6.5 10.5 10.5
B 3.0 47 2.0 4.0 6.5 105 10.5
ora 2.0 5.6 15 40 6.5 10.5 105
oray 3.0 5.6 05 4.0 6.5 105 105
M4 Thfcilee'ss Hole size LZ':gtth MAOr\‘/\i’r']'g Anvil Dia | Knob Dia HKe”iSEt
Azere | (1) (H) (P) (A) ® (K) (k2)
B 1.0 6.3 0.5 5.0 85 13.0 10.0
= 15 6.3 0.7 5.0 85 13.0 10.0
B 2.0 6.3 1.0 5.0 85 13.0 10.0
B 3.0 6.3 2.0 5.0 85 13.0 10.0
= 1.0 7.0 2.0 5.0 85 13.0 10.0
c= 15 7.0 25 5.0 85 13.0 10.0
= 2.0 7.0 3.0 5.0 85 13.0 10.0
= 3.0 7.0 4.0 5.0 85 13.0 10.0
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M5 Th}ijcir;gss Hole size LZIrYg?tth MA(\)r\]/\i/rlllg Anvil Dia | Knob Dia HK:igEt
szee | (1) () () () () (K) (k2)
=5 1.0 6.8 0.5 5.0 9.0 13.0 10.0
= 15 6.8 0.7 5.0 9.0 13.0 10.0
B 2.0 6.8 1.0 5.0 9.0 13.0 10.0
e 3.0 6.8 2.0 5.0 9.0 13.0 10.0
= 1.0 7.0 2.0 5.0 85 13.0 10.0
c= 15 7.0 25 5.0 85 13.0 10.0
= 2.0 7.0 3.0 5.0 85 13.0 10.0
c= 3.0 7.0 4.0 5.0 85 13.0 10.0
M6 Thipcir:f‘elss Hole size Li'r\]’gtth M/?)T/\i’r']'g Anvil Dia | Knob Dia HK;ZEt
mzee | (1) () ) o ©) GO )
B 1.0 8.2 0.5 6.3 9.5 15.0 10.0
B 15 8.2 0.7 6.3 9.5 15.0 10.0
B 2.0 8.2 1.0 6.3 9.5 15.0 10.0
=t % 3.0 8.2 20 6.3 9.5 15.0 10.0
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